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2. What are the cost components that make up the $7,000,000 
incremental difference in vegetation management between the FPSC 
plan and the PEF IVM program? How were these amounts estimated? 
Provide assumptions used. I n  addition, if not included in the 
$7,000,000 incremental difference, please provide PEF’s best estimate 
of offsetting (O&M) costs reflecting reduced outage restoration costs 
which may be expected during non-storm periods associated with the 
FPSC Plan and the PEF IVM program. If i t  is not part of the 
$7,000,000, explain why it is not. 
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